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3.0-3.5 Review
Show your steps. No calculators will be allowed on the quiz.

The Review only has Level I questions on it, which will account for about 80% of the quiz points.

The Review does NOT include any Level Il or Level 111 questions, which will account for about 20% of the quiz points.
You may study your homework questions for samples of Level 1l and Level Il concept questions.

Matching with reason 1-4: The graphs of four polynomial functions are shown. Below are 4 polynomial functions. Match
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5. Find the polynomial function with g(—4) = 9(3) =0 and 9(5) = 8. You may leave your equation in “factored form”,
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6. Find the polynomial function with g(—4) g(l) 9(3) 0 and 9(4) v A '8 (i
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7. Given f( x) = (x- 3)(x+3 x+5 ) = x3 +5x2 - 9x- 45, estim
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8. Given f(x) =X 5x2, find the equation of the secant line with respect to (1, f(l)) and (2, f(Z)).
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1. Given f(x) = x* +x*, find the equation of the tangent line at (4,(4)).
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